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General Instructions:

This paper consists of the following sections:

Reading — 20 marks
Textual Questions- 10 marks
Creative writing- 10 marks
Grammar- 15 marks
Vocabulary — 10 marks
Spellings - 10 marks
Handwriting — 5 marks
All are compulsory.

Reading — 20 marks
Q.1. Read the passages given below and answer the following questions.

A. There are a great many million fish in the seas, but this story is about
just one of them, and a very small one at that.

Now this little fish had everything in the seas to make him contented, but
he was not happy. You will laugh when I tell you why he was not .He was
unhappy because he was so very small.
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“ It is very hard to be such a little mite of a fish!” he would say over and

over again.

A.1. Choose the correct answers. (2x1=2 marks)
1) There are a great many million in the seas.
( birds/ fish / frogs)

11) The little fish in the story is not

( happy / sad/ angry)
A.2.Who in the story was unhappy? (1 mark)

A.3. Give one word from the passage which gives the meaning of
(1 mark)

happy and satisfied

A.4. Write the opposite of happy from the passage .

(1 mark)

B. Once upon a time, an old man planted some turnip seeds. The turnip
seeds grew. The turnip seeds grew and grew.

“ I want to pull up the enormous turnip,” said the old man. The old man
pulled and pulled. But he could not pull up the enormous turnip. An old
woman came.

“ I want to pull up the enormous turnip,” said the old man. “ I will help
you,” said the old woman. The old man and the old woman pulled and
pulled. But they could not pull up the enormous turnip.

B.1. What did the old man plant? (1 mark)

B.2. Who said, “ I want to pull up the enormous turnip.” ? (1 mark)
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B.3. Could the old man and the old woman pull up the enormous turnip?

(1 mark)
B.4. Choose the correct answers. (2x1=2 marks)
1) The opposite of enormous is. (huge / tiny / large)
i1) The opposite of pull is .(push / plant/ drag)

Q .2. Read the following unseen passage and answer the given questions.

C. Once a mother duck was hatching her eggs. One by one the eggs cracked
and the ducklings came out. The mother duck was very happy and proud.
All her young ones were very cute except one. That duckling was very ugly.
All other birds of the farm teased him and he felt very sad. He wandered
around and lived with wild ducks. Winter arrived. He was freezing from
cold. A farmer felt pity on him and took him home. But he was scared by
the farmer’s dog and he left the house.

Hard words:

wander — roam around, freezing — feeling very cold

C. i) Choose the correct answers . (2x1=2 marks)
a) The eggs cracked and the came out.
( chicks/ ducklings)

b) One of the duckling was

(ugly/ small)

C.ii) Write true or false. (2x1=2 marks)

a) The mother duck was proud of her ducklings.

b) All the birds loved the ugly duckling.
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C.ii1) Who was hatching the eggs? (1 mark)

C. iv) What did the farmer do with the duckling? (1 mark)

C.v) Complete the sentences based on the passage. (1 mark)

All the birds in the farm teased the duckling because

C.vi) Write one word from the passage for (1x3=3marks)

a ) the baby of a duck -

b) the opposite of beautiful -

c) the meaning of make fun of -

Textual Questions- 10 marks
Q. 3. Answer the following questions in one word or one sentence.
(2x1=2 marks)

1) Name the tree that an acorn seed grows into.

1) Where did Sonu first see the yellow butterfly?

Q. 4. Answer the following questions. (4x2=8marks)

1) What did Nina find when she came back from the wedding?

i1) Why is the child in the poem ‘Good Morning’ happy?
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111) What does the child like to see the balloon man do?

1v) Why did the birds in the magic garden love the children?

Creative Writing-10 marks

Q . 5. Write five sentences on birds using words from the help box : .

Fly

wings

sky

chirp

nest

(5 marks)
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Q . 6.Write five sentences on the given picture .You can use the following
words given in the help box. (5 marks)

Friends, Freetime, Playing, Drawing, Reading
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Grammar- 15 Marks
Q .7. Look at the pattern and fill in the blanks. (2x1=2 marks)
pull  pulled
1) help i1) wish

Q .8. Write any suitable describing words for the given pictures.

(2x1=2 marks)

A man

A peacock.

Q.9 Look at the following sentence. (1 mark)
If I were only larger, how much happier I could be.

Make a similar sentence using the word ‘older’.

Q . 10.Choose the correct words and fill in the blanks. (6x1=6 marks)
1) Monkeys have long . (tales/ tails)
i1) A herd of is grazing in the field. (cows/ wolves)
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111) The sun shines in the and the stars come at
( day/ night)

iv) There are many in the basket.

(potato/ potatoes)

v) The dogs are . (crowing/ barking)

Q . 11 Make a sentence with the following word. (1 mark)
shout

Q .12 Write a meaningful sentence with the jumbled words. (1 mark)

caught / the /spider’s / butterfly/ the /was / web/ in

Q .13 Write the rhyming words for (2x1=2 marks)

1) sing i1) cold

Vocabulary — 10 Marks

Q .14 Match the words with their opposites. (4x1=4 marks)
never weak
slender high
mighty always
low fat

Q .15 Add ‘ly’ to make new words as shown in the example. (2x1=2 marks)
love lovely

1) silent i1) slow
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Q. 16. Make two words from one word as shown in the example.
(2x1=2 marks)
butterfly -  butter fly

1) outside -

i1) bookshelf -

Q. 17. Write a word that tells the meaning of (2x1=2 marks)

1) a marriage ceremony -

i1) becoming better -

Spellings - 10 Marks
Q . 18 Circle the words with correct spellings . (3x1=3marks)
1) peach peech paech pache
i1) million milion milloin miloin

1) wrigled wringgledrigled wriggled

Q. 19 Fill in the blanks with letters to make correct words. (2x1=2marks)

)b _th r 11)sq _ar

Q. 20 Rearrange the letters and make meaningful words. (2x1=2marks)

1) leslh - i1) gyhunr -
Q.21 Correct the given wrong spellings and write. (3x1=3marks)
1) gardner i1) branchs

1i1) siting
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Handwriting — 5 Marks
Q . 22. Rewrite the following passage neatly in the given four lines.

Once a sanyasi came to Sabarmati Ashram. He met Gandhiji and expressed his
wish to stay there. Gandhiji said, “ You are always welcome”, but added, “You

will have to put away your saffron robes and dress like others here.”
The sanyasi didn’t like that. “I am a sanyasi”, he protested.
“1 am not asking you to renounce sanyas,” Gandhiji explained.

If you wear such robes people will not allow you to do work out of respect for
your robes. They will serve you and that would be contrary to the principles of

this Ashram. We are here to serve and not to be served.
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OBSERVATION AND REPORTING (30 Marks)

1. Look at the pictures given below. Name and colour the animals that live
in your house.

(5 x 1IM= 5 Marks)
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2. Arrange the animals in the order of their size- smallest being the first

(5 X1 m = SMarks)

Deer Cat Rat FElephant Dog

3. Colour the food from the plants GREEN and the food from animals
RED (5 X1m =5 Marks)

a)Tapioca [ | b)ymilk | | c)fish fry |

d) Bread |:| e) cheese | |

4. Rearrange the process of making chapatti in the correct order

(5 X 1 m= 5 Marks)
e Roll out the balls. Q

e Knead into dough. Q

e (Cook it on fire. Q

e Take out flour in a utensil. Q

e Make small balls of the dough. Q
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5. Name the picture and write a sentence about each (5x 2m=10 Marks)
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IDENTIFICATION AND CLASSIFICATION (25 MARKS)

1. Fill in the blanks with the correct answer from the bracket
(5x 1m = Smarks)
1) Chhotu made the his home. (pipe /boat)

11) The activity of needs the most water.

(bathing /watering the fields)

1i1) Members of Anwari’s family work as

(Electrician/dhobis)

1v) In dance, mudras and bhavas help us to convey

(music /feelings)

v) The has a sweet voice. (Koel/parrot)

2. Circle the odd one out (4x 2 m=2marks)

1) fish duck monkey crocodile

i1) boat ship car steamer

ii1) pond lake well police-van

iv) bucket glass-tumbler jug book
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3. Match the following ( Sx1m=5marks )

1) handcart a) dhaniya

11) gurudwara b) wheat

111) mint c) to sell vegetables

iv) coriander d) langar

v) chapattis e) pudina

1) N 1) . 1 1) B | ) B 4 R
4. Give 2 examples for the following (5x1m =5marks)

a) Animals that live in water.

b) Food items prepared from rice.

c¢) Things that a plant needs to grow

d) Utensils used for cooking

e) Vehicles driven by animals
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5. Name one food item prepared by the following methods of cooking
(4x1M=4marks)

a) Boiling

b) Baking

c) Frying
d) Steaming

6. Classify the following items under the given columns

(8x1/2M=4marks)

Apple fish carrot brinjal rice grapes onion tomato

Eaten raw Cooked and eaten Eaten both raw and
cooked

DISCOVERY OF FACTS (25 Marks)

1. What fuel is used in the following (4x1m=4marks)

a) Chulha

b) Microwave

c) Gas stove

d) Solar cooker
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2. Answer the following (2x2m=4marks)

a) How do you show respect to the elders in your family? (Any 2 points)

b) Write about any 2 particular customs followed in your family.

3. Give reasons (2x2m=4marks)

a) Birds have different types of beaks.

b) Dadi was unable to climb the stairs quickly.

4. Draw and name any 2 pictures of those containers which are used for
storing water. (2x1m=2marks)
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5. Using the clues given below, find from the grid Who am I? (1x6=6)

T R A C T o) R
0 C R w Y C w
R A I N z L U
T 0 B B J E N
0 N Y A G A C
I K K S 0 W L
S E Q S 0 T E
E A G L E T X

1) Slow and steady is my pace. [ always win when there is a race.
i1) I remain awake the whole night and go to bed in broad daylight.

ii1) Long and grooved is my tail. High up in the sky I sail. I pick and eat all the

mice.

1v) I am a vehicle used by farmers in the field.

v) I am your mother’s brother.

vi) I am the main source of water.

6. Label the parts of the bird. (5x1M=5 Marks)
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Section A - (20 Marks)

1. Choose the correct answer and fill in the blanks. 1x6=6
a. The smallest 3- digit number of that can be made from 6, 5 and 4 is

(456/ 465 )

b. 3m= cm. (30/300)

c. The letter that can be divided into mirror half is .(K/Z)

d. A wheel has edges. ( curved / straight)

¢. The sum of 15 and 62 is (T77/47)

£ 47-12= ( 59/ 35)
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c.
(1) A shape with three sides
(i1) A shape with four equal sides

d.

c.

. Do as directed. 2x5=10

. Which of the following pictures can be divided into similar halves? Draw a

dotted line to divide them into similar halves.

. Continue the number pattern

750, 770, 790, ;

450, 500, 550, ,

Name the geometrical shapes.

Reshma baked 129 cookies. Anil baked 24 cookies. How many cookies

did they bake altogether?

Fill in the missing numbers.
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3. Find the length of each bar. 1x4=4

cm
i) Bar A is cm long.
ii) Bar B is cm long.
iii) BarCis cm long.
iv)  Bar is the longest.
Section B - (20 Marks)
4. Answer the following. 1x6=6

a. Which views of the object are shown in the given pictures?

view view

b. A century + a double century = runs.
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c. Colour the boxes to form tiling pattern.

EYe

Y Vel

d. — 43 =56

e. Distance from New Delhi to Punjab is measured in

f. The number that comes just after 199 is

5. Complete the following as directed. 2x5=10

a. State true or false.

1. 5 less than century = 55.

ii. An orange has 12edges.

111. 8 more than 40 is 48.

1v. Two hundred four = 240.
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b. Colour the following as directed below.

c. Match the following.

i) Ifyou hit a 6 after me, you score a century

ii) 5 notes of Rupees 20

iii)

O_&m

10

200

iv) | am exactly in between 77 and 97

d. Make a question from the given fact.

There are 18 boys and 21 girls in a class.

—>Red i ":—} Blue

—> Yellow

322

87

100

e. Add the numbers to make the sum 95.

95
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6. Find out: 1x4=4
Below are given 3 routes between Riya’s school and home. Help her to find out
the smallest route.

Write the distance between Riya’s home to school.

Route A=3cm+ 15cm +3cm=21cm

1) Route B =

i1)  Route C=

1i1)  The smallest route is

iv)  The longest route is
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Section C - (20 Marks)

7. Do as directed. 1x4=4
a. Complete the figures to make a square and a rectangle.

b. Count in 10’s and write the next two numbers.

439, ,

¢. Addition 643

+302

d. Fill in the missing numbers
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8 Solve 2x6=12

a. Draw a weaving pattern on the durrie given below.

iy

7

b. Vedant starts jumping from 1 and Arjun starts from 2. Vedant jumps 3
steps at a time and Arjun jumps 2 steps at a time.

|12 |3 ][4 |5 |6 [7 |8 |9 [10]11]12]13]14]15]16]17]18]19]20] 21|

1. On which number will they meet first time?

i1. Vedant will be on step after 5 jump.

c. Place the cards in the correct place.

20 80 60

d. Write in words.

343 =

206 =
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e. Write in the figures.

Five hundred =

Nine hundred nineteen =

f. Find the sum by filling the correct number.

37 +42-

30

+ + | 40

9 Given below is a price list of different Ice cream flavors.

+ |2

70 [+

Ice cream flavors Cost per piece
Mango Rs 45
Chocolate Rs 62
Grape tea Rs 37
French Vanilla Rs 80

1+1+2=4
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Answer the following questions on the basis of above table.

a. Which Ice cream flavor is the cheapest?

b. By how much is French vanilla ice cream costlier than the Grape tea ice
cream?

c. How much will 2 mango ice creams and 3 Chocolate ice creams cost
altogether?

Section D - (20 Marks)
10 . Fill in the blanks. 1x4=4

a) There are tens in the sum of 20 + 2+ 20 + 6.

b) The difference of 68 and 35 is

c) A metre is equal to centimetres.

d) Tick the picture which has corners.
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11 . Do as directed. 2x6=12

a. Complete the mirror halves of the letters given below.

k2R

b. Draw any two things which have straight edges.

¢. Write the numbers 1, 2, 3,4,5,6 in the circles below so that the sum of each
side of the figure is 9.

d. Baby elephant is 34 years old. Mummy elephant is 103 years old. How
much younger is Baby elephant than Mummy elephant?
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e. Tick the numbers which can be divided into mirror halves.

(0 SRRV, N RUS RN

f. Fill in the gaps.
(1) 4 hundreds+ 5 tens+ 6 ones =

(1)) 3 hundreds+3 tens+3 ones=

12 Solve

a. If 2x2=4

b. Draw cards of i
10

264 -

328 -
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